201349 3,4 & Xt I[Al

E=EII NS S AL

N ]:H —

Geoul Metro ME&TIES

AT ABAISA 28




2 & ui & & gt & (X[FXIE7[X]| 350)

T ¥ T2 X EXAF7|IX| 7 #1X] @ 350 EIZ2SlE8F 50kg : (AF 4704, ek a7fa, & 8704)  sldEc: 1070 HLHZ 163 HA(ol 3ol - 37H=L) Ymet:15m x 2 (Bl 1.5&)
A2 Z R P. C. T(45% _ 0|20} 5 o S04 &S 18 (WT)) | 27188 | £718%
= & olHiod ol
27|7|m 8k { 50kg NS 8# } =dujd Atr
L\%@ 0\%“\\ <t N\E2 ngIA/ %7\Mﬁ
%;50 027\ ol 20 TSRS
20000 11850 26200
Pany Pary P E
T A% = =i
/@/,///" 50NS® #8(350)}50:43 I8 #8(351B)
O o Fan &
———
\///,J
HEZH1.4m B
A=5R | W. T (273) 7l 3= 27188
A=E3R P. C. T(45% _o| 305 &= 1ea W EH(W.T —> P.C.T)) =7 & 5 =72 85
= & o} olyllod ol —
2717|m&k { 50kg NS 18 8# } 2ujd dlx
%w
B2 ) &8 B4,
s w2 == Rl
16850 15000 14040 12150
Al
&—— $ % ¢
WT (¢ [%EIH) -> PCT (1ea) 50NS 1Y #8(35& 50NS I8 #8(351B)
] =
g"/‘i@
Ad=E3R W.T(278) =218 5 =2 8 5
T >~ = B S Al AL X A AR, |wuy e - £ o8 oy |y YEE (XISRH7|X| 350_EHET)
e oY - - ol | s 23ap | = A= |2013¢ 3,454 AN =x LTI HTBA
— - - - = O © O
&]%Z ol 0 ‘5’ ol 3 @ & e . 1 REV

TR YR N



ol 2l b & <

ot

—

T (XIS XHEZ| X[ 349A)

B 20l E27 50kg : (A5 6704, bt 2704, & 870 L)

BlyEet 12742

=1

M3 : 208

oS0l 4742

HYmE: (5m X 2+ 7m), 7m (I 1.58)

7 £ 22 AISAFIIK Y A : 349A
EX L P.C.T  |w.T(68)| rE | pcas(sy) | P.C.T
=] S OlHHod ol .
T_7|7|J_.I'_%I'{50kg NS 8#} E‘"EHHE Euu_!'_l_
A
20000 26210 15000 20000
28 e @ & = o & § @ g &
50NSE #8(349A) \@_\
O () o) 5 ( o ()(, Va
\\_/ /\
S 4600 3\ \@\ 50NS 18 #8(3498B)
50NS# #8(319) \@\ = 7000 | " 20124 gz
\é\ A% =
\/
\9\9\ T
A=z R P.C.T  |w.T(6%) 27132 27138
EEE P.C.T CEFE P.Cc 2Z(18%) | P.C.T
: =] S e} OlHgHod ol —
t7|7|E%{5Okg NS & 8#} g elul e ddle
os® 2N g W8 g0 e*® JlEy Sy og® og®
17000 3000 12150 14040 15000 20000
U met
Ma Y & 23 —_— & § ®
WT -3[PCT (6p4) 50NS 18 #8(349A) il ’”"')f”g (8ea)
& o % S5 S ) S
i glﬁ\ 50NS |8 #8(349B)
705 2012 HZyets
& ©
349R 3498
/
é,\\?g@ E)I§§'
AdESH P.C.T 278 = 2785
— 2 G A Al A X AR, | xqmu 24 ax B Y | Qs (XISAYT|X 340A_FE7])
G&OU' Metro jﬁﬂ@ S S s 2::::—“ MWi ‘7[% | 2 Aty 20134 3,454 xR =877 HIBA
= [ b 4 = O O
ﬂ}& ﬂ] 0 *“r-‘a S Z v@ e JE—— o REV




o B & &

ot

—

(R = AHE7| x| 336B)

T+ £ T72h: X EXY7|X| 72U 9Ix :336B E|IZSIERF 50kg: (B5F 6704, 274, & 87H4) | YHCH:1270a  YMZ 2083  HA(EE: 2704, ol3oh: 4704) YmEH: (5m X 2+ 7m), 7m (Bl 1.5&)
423w P.C.T | 2788 | wis®)| p.c.T
= S o O -
27|7|m 2k { 50kg NS 8# } = ufE BT
=l
o/s A &> o T o/s
~=% % ﬁy 8y
20000 26200 10000
T © D O 4 D
/@///, 50NSE #8(336B)
S B = &
\/
/
50NS 18 #s(sasA}/,_@_..-— &
00
20124 HFgets o s n
%7\%’5
2S8R 22185 CE R
SR P.C.T 22188 P.C.T
i =] S Ol Hl o4 I —
2717|m&t { 50kg NS 18 8# } 2dujd ddtE 2y
£) 8
9/=g %ﬁkﬁ\& =8 \o\!ﬂ &) 9/8y
i % 2 e A= ﬁ o
: 10000
20000 29190
14040 12150 3000 7000
g 5m
AEK © 1ot @
PCT ?—ixl’gt’g (1ea) 50NS |8 #8(3368) WT —> PUIT& S m# (6ea)
¥ =\ (7N Y o o
J MJ T gﬂ O
e HYmE 7.1m R il
50NS 18 #e(aasA;/_:@;./— /’f =t
20124 7 Zyets 7100 ACT %ﬂ#@ (8ea)
O (;\ i
e 3368
\
336R g"f@z
ey 3us)
d535% £713% | 2782 P.C.T
— = = TS A Al AL &} FELE T ax £ B Y | sl YUE (RISXTIX 336B_EHE7)
G&OUl Metro S T > A2 ) A | s = |7 [ = At = |2013d 3,484 A@IIx| =8| HSBAF
0}&/ _};__] J 0 |3 b= Q}j@ . Pl === o= s |




of & v A A

o0t

L

= (RXIFSXIZEZ[X] 330)

Y 1270 LS 1 163

HAEE 1712,

YYmet: (5m X 2 +7m), 7m (B 1.58)

T = T2 X EXE7|X 7Y 91x] : 330 E|IESIEEF 50kg : (5 6704, k274, & 87HL) o| Sl : 271 &)
e 2788 |P.cT(10®)] 2788 | il P.T.C
= = ol od oldH}f=
i! %7\}~\@ g’/§g
E o
10000 26200 8800
oY SRR i B =
D é S
50NS I8 #B(SSGﬁ)\ 50NS# #8(330)
20124 7R
AEsEER 272385 P.C.T =71 8 5 =718 5
CEE CEEE |P.C.T(10%) EolAS P.T.C
H s rey ol od ol —
AN @ o\ei‘@ &, Sz
3334\,%/330 %?3\3%0 A= ﬁ d30-
10000
29190 8800
Al // 7000 3000 12150 14040 5000
r;’—ﬂ%lm{«‘? Y HEE ol 3M A #eus#sm J
h vy 7 X 3
50NS & #8(336A) PCT $|=-c|§§ (1Fea) 50NS I8 #8(330) ‘@%\Q\Q\ = pia # +>g1 (3ea) 3317} 2{ =% 331 B 7435 iﬁ‘%l@ea)
o (@)
20124 JHetE L= .
EE L) L P.C.T YL | 2713 %
— &~ X 8 = P & AF %} FEE N o = ooy |aUul ARE (X SXHZ7|X| 330_FE71)
G&OUl Metro ASOES ST ST S s A2 /)) .V/'% . 7340 =0 | 2 A= 201311 3,454 REIIX| =FETI7| HFBA
D"é/é = e | (&7 = | =sus s =




T P g NPV

| Ak et van b e Lo i de s | e o St s L S At E g Tl £ i e

g 2

o

od
—

ol
=

o0t

—_

= (K| E=xI27|X| 326)

T 8 F2h: X SR\ X|FY  9Ix 2326 E|2UEEF 50kg: (FF 67HL, Ut a7, & 10702) BLFCH: 1370 HLYHI 1683 Hd ol3of - 274 dmE: (5m x 4) (AL 1)
EE L EEE | pc1rm) | 2as - P.C.T
=] & o o4 ol
=7|7|1m gk { 50kg NS 8# } 2 dud LUt
‘E‘J[§
\h\@ 57/§ 2
e B sy agh
7900 26200 20000
SRR, — [ s
& D P & S
50NS 18 #8(325) 50NSH #8(326) \@\ 1 )
o o
20124 HyetE L e B P
\/
D
s 20000 )
=3 F £ 88 P. C. T(73) 2I18= P.CT
AdEER 218 5 P. C. T(73) =7 85 P.C.T
§ =] = e} ol ol e
=7|7|met { 50kg NS I1& 8# } &l LT
oz NB 7\0\23‘"@ & )
. e gN== i 08—
7900
27| &gt 1% am : el 20000
Al R | 3900 4000 12150 14040
sy &l AR P .- Pany o) D
V | Z) e RS ¢ 4 b= g
50NS 18 #8(325) PCT pI%IE3 (7eal) sﬂr\* 18 #8(326) 3l mgk 5m
\} 73] {.\ 0 a @ ()
20124 Y= me—————— ST
—— | agmssm
q» HF X)X HH D
ol
D
e e P.C.T(7d) | 27182 P.C.T
o = = T = R FEEN P s £ oW | QU (XISRETIX 326_PE7)
MESHER e ~ | = ar®  |2013d 3,454 MK =x (7] HSFBA
coulMetro M@UER [rmemmenem o | (4B 5y | QR < | =— =
> - > TEES 5




ol f v & o vk = (X|FAHEZ[%| 319)

T T2 X E=AH7|KTH 9%l 319 EHEUERF 50kg: (A5 6, Y4, & 107H2)  HLHEH: 14702 LB : 2083 2 HAHA(FE :1ea, OI30H : 3ea) YWEH:20m x 2, (11.4+5)m X 2 (A 4&)
4S53R EEE | P. C. T(25%) | p.c.T(128) | 27188 | p.crem)] L
=] (=3 olgHod ol —
27|7|met { 50kg NS 8# } 2l Ui ddte
9/ 2 &, ol
5m %5 &2l ¥ 20000 8100 26200 11400
T 5000 )\e\
o § E @ € o o .
50NS 18 #8(318)| & 1 SONSH #8(319) \9\ E
gorad ABTE = A - 50NS I8 #8(349B)
P 20124 etz
23R 2218 5 P. C. T(25%) I P. C. T(128) =78 5 P.C.T(8%) =218 5
2 == 22 P. C. T(37X) 2208 5 P.C.T(8%) =721 85
=] =3 ot ol od o] —
=7[7|met { 50kg NS I 8# } 2dufE T
8 SRE
A A o™ &> &H(y ol
2N LUt B el ol
4100 . 30190 ) (
Al 20000 4000 12150 14040 5 éf?l%oﬂﬁm 5ONS % #8(3498
= ' P — — \ e
50NS 18 #8(318) AYmet20m 7] Mk o1& 4m | 50NS I8 #8(319) HOT I8 (Bed) 20124 ZH etz
© te} C S S S
20124 JHgetE .
HatEola|e A 4m —— Hem#5m X
\ — — ACT|Hx1E3 (6ea)5o 8(320)
a\9 \
A %)
%h\%ékg‘t
e Y 27182 | P. C. T(37%) | e | p.cT(s®)] 2E=
" > = S i I FEEEIT an £ oW | U (XISRTIX 319_PET])
G@OU' Metro }\\ﬁ] o M = = :;’i::: :::::: 2::::5“ 9 Ml% - R ’ e | = Ar ™ [2013d 3,45 M xI|X| =T 27| IHZFBA}
— é%%/ A4 °|FRa 4«%9/ 0 ° | =1 zpu= 6 |—




g e o & ¢l dul & (ESXI87|X| 412)

T 8 T2 FEAFIXK T X 412 EI2SE87 50kg : (A5 5704, et a7f4, & 97H4)  eldEch: 12702 HYMB 188 Zedo|Sof : 2702 BYmet: 5m x 4 (B 12)
Y 277 =2 | W.T (24%) B W.T
= S (@) (@) o
27(7|11m2k { 50kg NS 8# } &lldujd dte
’E‘J/§ A
\N & )
%‘?% %&1 ogd -
e 26200 20000
T RS T
S—
50NS I8 #8(403)
20114 7H§%§©
e |
=235 E73% W.T (24%) W.T
A2E5EF =721 8= W.T (24%) W.T
= = (o) o1 O
3 27)17|m&t { 50kg NS I8 8# } Blldujd &dt
= \WNB
%‘;ﬁ%
NS \o\&ﬂ@ &> Z4; o\
2 £ e o
et 2l ZAS
_/ A
= 47190 20000
Al — 1poptl SHFIEM (2ea) 12150 — 14040
e 1’
& o S % — & i3
50NS I8 #8(403) s I8 #8(412) \Q\ 8 @ 5m W.T ->P.C.T &S5 m & (34ea)
® 0 S @ %
20114 s H P
(@ & T e SRR 7=
‘: “PCTasay (o
A=2zH B35S W.T (24%) W.T
P CHES A @ Al Ab X} AR | e 24 an oY | YUE (FEXYTIX 412_9£7])

NOTE

G (i L s L o eV s A L e B e e e S L L i ) i e R N

©:lapn 8 O:ueolgd (1 Aude
S ALY 20134 3,454 AHZ|X| =¥ 2717| JHSFSAt

GGOUI Metro J&ﬂ% @:H23= 3 O:udosd @ BANME 8T Z)%%, @ ﬂ] M% _\5' 7'(;:?2_ @%6 O 8 0 Z
L1 w TR 7 =




s b Tat e i) e a . pums = - 2y

ol H Ood ol dH} = (iI-E.'I.EI: l | )
E'" = H = = |_|' 1 (o J =" A () 7 A 434
T B T2h: AEXZI|XFU 94Xl 2434  HE2UERF 50kg: (AF 6704) UM 11712 HYMB: 282 Hedo|Suf 47l HY@mE: (11+9m x 2, 10m x 2 (Y 3E)
EEL grla=s | wrara) | ErE | W.T (118) I W.T
=] = o od o]
27|7|1m&k { 50kg NS 8# } 2| ufd Htx
&) 3 & o)
o Y 2y oz
13900 26200 10800
T3 S N 4500
e & o & P &
50NS I8 #8(433) | SY #8(430) \@_\ 1
Fa aY \
20124 FHgete = Y e &
ss B b Y L
R [H e
8600
e 2738 W.T (178) 2713 = W.T (8%) l W.T
CEEE 27138 W.T (178) 2713885 W.T (113) | W.T
3 = S e} o od ol —
27|7|m&F { 50kg NS 1& 8# } aluid bte
$>,§ NNE N \o\Ei“'g & g"/éx 2
13900
30190 10800
// 2wk 10m
A g 10000 4000 12150 3 14040 Bl me 10.8m
- H —¢ — —D
50NS I8 #8(433) W.T g%minna) ! S 18 #8(434) M W.T ZS1g (11eh) I
Van ® N
20124 Wyt o ‘
B [ e
8600
gL mE 8.6
i
ek grag=s | wrarm) | 27 8% W.T (8%) l W.T
_— P B S Al AL &} FEE T an OB M | e YU (RSXAZTIA 434_FE7))
s @712k 88 O:uieolRol [ e =
G & , @:HEYE= 8 O:uelolg8u P FAMHE 8T : ] W ~ = ) = & At W 20134 3,454 xty7|x| =¥ 2717| HFSA
eoul Metro i Az (@R |2INB| xms | Qe | ——— | == T,




> LSRN ok 2 S d)

i oo ot DAt i Ul Seaccsiey

ol HO:I ol H (iE'rE | I )
2 & Hf & 2 di aSSXEZ(X] 495B
F B Fzh: HEAZYIIATH 9% :495B  EIZUERF 50kg : (BT 674, Ut ariL. A 10702) BYFE:137Mc  AYHIT 163 HAEE : 2702, o S0H : 47HA) FY@ME:10m X 2, 5m X 2
EEL P.C.T | P. C. T(28%) [ e | P.C.T (328) |
u -_—
=717|m & { 50kg NS 8# } 2l Abte
&
20000 26200 20000
T3
& B S S P+ >
//@//, 5ONS# #8(495B)|W.T(1ea)
& & = &
224 495A
z8 A
27\ e Ad 50K A
EEL EEE |2 &2 (4e0)| SEIS(10ea T EE P.C.T (323)
R P.C.T | P. C. T(28%) E7&s P.C.T (33%)
u —
=7|7|met { 50kg NS I 8# } b ddte
%3 e3® & S
20000
20000 29190
Al 14040 12150
D & M D
3 mek 5m
3m HE
E R
=M 495A
EEX EIldS |= &2 (4ea)| 28 =(10ea) e P.C.T (338) |
NOTE coll... B % X # o AR AKX, |xow 24 an = oH Y | duks (AEXIYTIX| 495B_FHET)
@eou' Metro JLLJ]] _51- :::::: ::::::: 2::::!“ =~ ‘ _ ’ = —— = ALY 201349 3,45 M X FT|X| =¥ &27|7| 7HEFS A}
| A2 NG| 33 | Qo | —e—o| == =

THHS

9




